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gy 0| T |45 TR Yoy k| I52 | 2=A4Y | 2y TN poat-i-| 8ISYY
AEY) |BayF) L 45°L T S P U Ni 0S 5K&F | 10K&F
15| 15 640 1,170 980 740 850 2,110 660
20| % 740 1,270 1,120 860 880 | 2,700 730| 6,020 3,080| 3,640
25| 1 1,180 1,730 1,780| 1,190 970 3,390 970 4,310 4,890
32| 114 | 1,950| 2,430| 2,680| 1,640| 1,330| 4,420| 1,360 5,620| 6,210
40| 115 | 2,380| 3,240| 3,300| 1,970| 1,730| 5,820| 1,680 5,940| 6,610
50| 2 3,440 4,420 4,660 2,870 2,240| 7,680 2,270 6,860 | 8,290
65| 25 | 6,830 9,410| 9,890| 5,700| 3,940| 18,050| 4,220 10,170 | 11,820
80| 3 [10,620)12,770| 14,380 | 7,480| 5,320| 24,230 6,290 12,530 | 13,480
100 [ 4 16,390 21,020| 23,200 | 13,270| 9,070 | 38,800 10, 830 15,820 | 17,250
125 5 42,920 69,700 58,420 | 25,430 20, 040 18, 440 29,630 31,510
150 6 |62,480| 78,200| 90,630 | 34,800 26, 410 26, 410 33,280 | 35,300
Bal 220 | B30 | BEL | BEL Bal 220 | B2V | BEL | BEL
326} TILK — Vv S0OR [[For TIUR — Vv K 502
A=) | By | RL RT RS |BRCr|[ A=y | Bavs | RL RT RS | BRCr
20 (1534 | 5| 1,080] 1,270 1,110 80 3 | 28,310 29,230 | 15,560
25 20 1 34| 1.,560| 1,830] 1,370 4,500 65 215| 28,310 | 29,230 | 15,560
15 15| 1,560 1,830 1,370 50 2 | 33,530 | 34,680| 18,510
25 1 2,500 2,960, 1,790 100 40 4 115 34,680 | 18,510
32|20 |1'4| 34| 2500 2960 1,790 6,300 32 114 34,680 | 18,510
15 Y5 3,530 25 1 34,680 | 18,510
32 14| 3,470, 3,750 2,340 20 3 34,680 | 18,510
40 25 11 1 3,470, 3,750 2,340[% 7,870 15 15 34, 680
20| 7235 | 4120] 4420 2770 7.870 100 4 106,140 | 29, 980
15 15 4,420 2,770 80 3 106, 140
40 115| 52200 5220 3,090 125| 65| 5 |21 111, 470
32 114| 5220 5220 3,090 50 2 111, 470
50 25| 2 | 1 6,190 6,190 3,650[% 12,380 40 115 111,470
20 32| 6,190 6,190 3,650|% 12,380 125 5 114,480 | 42,170
15 V5 6,190 150100 6 4 114,480 | 42,170
50 2 | 12,790| 13,740, 6,600 80 3 120, 340
40 115| 12,790] 13,740/ 6,600 65 215 120, 340
32 114 16,320 7,860
65 55122 4 16,320 7,860 BT sal=rEa 25
20 ;% 16,320] 7,860 %25. 80 PA =0 T Bro» | BRT |[ A=) | Baws | BRT
15 /2 16,320 20xT5XT5[33X 75X 15 |1, 830| 32X 32 X50[1 74X 174X 26, 780
65 25| 16,320] 17,770| 8 920 20x15x20[3; X 5X 3 |41, 830
50 2 | 16,320 17.770] 8 920|+35 960\ [50x0x25[3;x3;x 1 [+2. 390
40 115| 19,370 21,090 10,600 20x20x32[3;x3; X174 3. 280
80 32| 3 (14 21,090, 10, 600 25x15x15] 1 X9 15 %2, 390
25 1 21,000/ 10,600 25%20%15( 1 X34 15 |2, 390
20 % 21,090 10,600| 35,950 [26x20x20[ 1 X3;% 34 |2, 390
15 5 21,090 25%25%32[ 1 X 1 x114]+3, 280
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A=) B yF) ZL 2T ZS ZSEL ZBSEL
15 A 2,710 2,890
20 3 3,130 3,990 3,130
25 1 4,720 4,400
2015 34X1% 4,400 5,120 4,100 5, 080 5,080
25%20 1 X3 6, 060 6, 030 5,400
25x15 1 X145 5, 950
BERETEEMHLIE (75 T5—158)
o FAPITH— AXRAPEHTH—
Y TR Vv~ TILR F— Vv~
AE=v) B(ryF) ZML ZMS ZFL ZFT ZFS
15 A 5,710 5, 830 5,280 6,610 5, 400
20 3 6, 530 6, 650 6, 070 8,670 6,210
25 1 9, 350 9, 450 8, 320 7,730
32 14 13,100 11, 060
40 15 16, 310 16, 140
50 2 19,130 18, 250
20%15 A 7,410 5, 000 7,450 5,290
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AEy) B(>F) AL AT AS ATRL
15 15 % 1,030 | % 1,280 | % 1,100
20 i % 1,190 | % 1,510 | % 1,190
25 1 % 1,770 * 2,240 % 1,670
20%15 34X1s * 1,630 | % 1,940 | % 1,730 | % 2,220
25%20 1 %3, % 2,290 | % 2,700 | % 2,040
25%X15 1 X1 % 2,000 | % 2,620 | % 1,770
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N G Kig Kiz KEg  |KRARAR|  KiE
O TJUR F— Viow ks Vovhk | ZvFb
A=) B(ryF) BCL BCT BCS BCXS BCNi
15 i 2,090 2,970 1,770 2,340 2,770
20 3 2, 880 3,910 2,620 2,630 3,390
25 1 3, 620 3, 820
32 14 4,880 |% 10,830
40 15 5720 | % 12,930
50 2 7,980 17,990
20%15 3aX1s 2,650 3,890 2,310
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- _@&|AE | 20x15 2% |AEY) 15 T 8% Jyvyvs
X9 Buyvs | 3axls :26) Bz 1 o -~
20 1.250 20 1.390 20x15 x5 2,690
25 1,390 225 1.470 20x10 2% 3,290
30 1,430 25 1,580
35 1,630 30 1,800
40 1,890 35 2,030
45 2,050 40 2,230
55 2,520 45 2,620




